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Abstract

In this research by study of properties such as volatility, solubility and viscosity flux such as: K6P4O13,

KNaPO3F, KBa2(PO3)5:2K2O and KPb2(PO3)5.2K2O and compare them together, chose the most suitable flux

for growing single crystals of KTP and was the KPb2(PO3)5.2K2O flux. Moreover, crystals grown under

identical conditions them fluxes and analysis chemical analysis (ICP) and Ultraviolet–visible spectroscopy

(UV-VIS) and compare the results of this analysis correctly above flux.
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